

TABLE C-1 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

Field of Post-M.D. Training				Residents				Fellows	Total
ricid of rost m.b. Training	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Family Medicine	85						85		85
Emergency Medicine (CFPC)		7					7		7
Care of the Elderly (CFPC)		1					1		1
Enhanced Skills: Other Fam. Med. Training		10					10	2	12
FAMILY MEDICINE SUBTOTAL	85	18					103	2	105
Palliative Medicine		1					1	1	2
TRAINING FOLLOWING FAMILY MEDICINE OR SPECIALTY SUBTOTAL		1					1	1	2
Anesthesiology				5			5	2	7
Public Health and Preventive Medicine			1	3			4		4
Dermatology				2			2	1	3
Diagnostic Radiology				6			6	9	15
Neuroradiology								1	1
Emergency Medicine (Royal College)				4			4		4
Internal Medicine			5				5		
Cardiology (Int.Med.)					3		3	1	4
Clin. Imm./Allergy (Int.Med.)				1			1		•
Critical Care (Int.Med)				2		1	3		3
Endocrinology/Met. (Int.Med.)				1			1	1	2
Gastroenterology (Int.Med.)				1			1	1	
General Internal Medicine				3			3		:
Hematology (Int.Med.)				1			1	1	
Infectious Diseases (Int.Med.)				3	1		4		4
Medical Oncology (Int.Med.)				2			2	1	:
Nephrology (Int.Med.)				2			2		:
Respirology (Int.Med.)				2			2		2
Rheumatology (Int.Med.)				3			3		:
Neurology				2	1		3	5	8
Nuclear Medicine					1	1	2		
Pediatrics			7				7		7
Developmental Pediatrics					1		1		1
Physical Medicine & Rehab.				2			2		2
Psychiatry				12			12	2	14
Child and Adolescent Psychiatry					1		1		1
Geriatric Psychiatry					1		1		1
Radiation Oncology				2			2	2	
MEDICAL SPECIALTIES SUBTOTAL			13	59	9	2	83	27	110
Anatomical Pathology				1			1		
Medical Biochemistry				1			1		
Medical Microbiology				1			1		
LAB MEDICINE SPECIALTIES SUBTOTAL				3			3		
General Surgery				1	2		3		;
Colorectal Surgery							-	1	



TABLE C-1 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

Field of Poet M.D. Training				Residents				Fellows	Total
Field of Post-M.D. Training	PGY-2	PGY-3	PGY-4	PGY-5	PGY-6	PGY-7	Subtotal	Fellow	
Vascular Surgery					1	1	2		2
Neurosurgery					1		1		1
Obstetrics/Gynecology				5			5		5
Gyn. Oncology						1	1		1
Ophthalmology				3			3	2	5
Otolaryngology - Head and Neck Surgery				3			3	1	4
Orthopedic Surgery				4			4	11	15
Plastic Surgery				2	1		3	1	4
Urology				3			3	1	4
SURGICAL SPECIALTIES SUBTOTAL				21	5	2	28	17	45
Total	85	19	13	83	14	4	218	47	265



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Post-M.D. Training	Fen	nale	Ma	ale	Total	
Field of Post-IVI.D. Training	Count	Row %	Count	Row %	Count	Row %
Family Medicine	51	60.0%	34	40.0%	85	100.0%
Emergency Medicine (CFPC)	2	28.6%	5	71.4%	7	100.0%
Care of the Elderly (CFPC)			1	100.0%	1	100.0%
Enhanced Skills: Other Fam. Med. Training	9	75.0%	3	25.0%	12	100.0%
FAMILY MEDICINE SUBTOTAL	62	59.0%	43	41.0%	105	100.0%
Palliative Medicine	2	100.0%			2	100.0%
TRAINING FOLLOWING FAMILY MEDICINE OR SPECIALTY SUBTOTAL	2	100.0%			2	100.0%
Anesthesiology	3	42.9%	4	57.1%	7	100.0%
Public Health and Preventive Medicine	4	100.0%			4	100.0%
Dermatology	2	66.7%	1	33.3%	3	100.0%
Diagnostic Radiology	6	40.0%	9	60.0%	15	100.0%
Neuroradiology			1	100.0%	1	100.0%
Emergency Medicine (Royal College)	2	50.0%	2	50.0%	4	100.0%
Internal Medicine	1	20.0%	4	80.0%	5	100.0%
Cardiology (Int.Med.)	1	25.0%	3	75.0%	4	100.0%
Clin. Imm./Allergy (Int.Med.)			1	100.0%	1	100.0%
Critical Care (Int.Med)			3	100.0%	3	100.0%
Endocrinology/Met. (Int.Med.)	2	100.0%			2	100.0%
Gastroenterology (Int.Med.)	1	50.0%	1	50.0%	2	100.0%
General Internal Medicine	1	33.3%	2	66.7%	3	100.0%
Hematology (Int.Med.)	1	50.0%	1	50.0%	2	100.0%
Infectious Diseases (Int.Med.)	1	25.0%	3	75.0%	4	100.0%
Medical Oncology (Int.Med.)	1	33.3%	2	66.7%	3	100.0%
Nephrology (Int.Med.)			2	100.0%	2	100.0%
Respirology (Int.Med.)	2	100.0%			2	100.0%
Rheumatology (Int.Med.)			3	100.0%	3	100.0%
Neurology	3	37.5%	5	62.5%	8	100.0%
Nuclear Medicine			2	100.0%	2	100.0%
Pediatrics	4	57.1%	3	42.9%	7	100.0%
Developmental Pediatrics	1	100.0%			1	100.0%
Physical Medicine & Rehab.			2	100.0%	2	100.0%
Psychiatry	9	64.3%	5	35.7%	14	100.0%



TABLE C-2 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING

BY GENDER

Field of Doot M.D. Training	Fei	male	M	ale	То	tal
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %
Child and Adolescent Psychiatry	1	100.0%			1	100.0%
Geriatric Psychiatry	1	100.0%			1	100.0%
Radiation Oncology	3	75.0%	1	25.0%	4	100.0%
MEDICAL SPECIALTIES SUBTOTAL	50	45.5%	60	54.5%	110	100.0%
Anatomical Pathology	1	100.0%			1	100.0%
Medical Biochemistry	1	100.0%			1	100.0%
Medical Microbiology			1	100.0%	1	100.0%
LAB MEDICINE SPECIALTIES SUBTOTAL	2	66.7%	1	33.3%	3	100.0%
General Surgery	2	66.7%	1	33.3%	3	100.0%
Colorectal Surgery			1	100.0%	1	100.0%
Vascular Surgery	1	50.0%	1	50.0%	2	100.0%
Neurosurgery			1	100.0%	1	100.0%
Obstetrics/Gynecology	5	100.0%			5	100.0%
Gyn. Oncology	1	100.0%			1	100.0%
Ophthalmology	1	20.0%	4	80.0%	5	100.0%
Otolaryngology - Head and Neck Surgery	3	75.0%	1	25.0%	4	100.0%
Orthopedic Surgery	4	26.7%	11	73.3%	15	100.0%
Plastic Surgery	2	50.0%	2	50.0%	4	100.0%
Urology			4	100.0%	4	100.0%
SURGICAL SPECIALTIES SUBTOTAL	19	42.2%	26	57.8%	45	100.0%
Total	135	50.9%	130	49.1%	265	100.0%



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2014) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Doot M.D. Troising	New	Entry	Re-e	entry	Total		
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %	
Family Medicine	84	33.9%	1	5.9%	85	32.1%	
Emergency Medicine (CFPC)	5	2.0%	2	11.8%	7	2.6%	
Care of the Elderly (CFPC)			1	5.9%	1	0.4%	
Enhanced Skills: Other Fam. Med. Training	4	1.6%	8	47.1%	12	4.5%	
FAMILY MEDICINE SUBTOTAL	93	37.5%	12	70.6%	105	39.6%	
Palliative Medicine	2	0.8%			2	0.8%	
TRAINING FOLLOWING FAMILY MEDICINE OR SPECIALTY SUBTOTAL	2	0.8%			2	0.8%	
Anesthesiology	7	2.8%			7	2.6%	
Public Health and Preventive Medicine	3	1.2%	1	5.9%	4	1.5%	
Dermatology	3	1.2%			3	1.1%	
Diagnostic Radiology	14	5.6%	1	5.9%	15	5.7%	
Neuroradiology	1	0.4%			1	0.4%	
Emergency Medicine (Royal College)	4	1.6%			4	1.5%	
Internal Medicine	5	2.0%			5	1.9%	
Cardiology (Int.Med.)	4	1.6%			4	1.5%	
Clin. Imm./Allergy (Int.Med.)	1	0.4%			1	0.4%	
Critical Care (Int.Med)	3	1.2%			3	1.1%	
Endocrinology/Met. (Int.Med.)	2	0.8%			2	0.8%	
Gastroenterology (Int.Med.)	2	0.8%			2	0.8%	
General Internal Medicine	3	1.2%			3	1.1%	
Hematology (Int.Med.)	2	0.8%			2	0.8%	
Infectious Diseases (Int.Med.)	4	1.6%			4	1.5%	
Medical Oncology (Int.Med.)	3	1.2%			3	1.1%	
Nephrology (Int.Med.)	2	0.8%			2	0.8%	
Respirology (Int.Med.)	2	0.8%			2	0.8%	
Rheumatology (Int.Med.)	3	1.2%			3	1.1%	
Neurology	8	3.2%			8	3.0%	
Nuclear Medicine	2	0.8%			2	0.8%	
Pediatrics	7	2.8%			7	2.6%	
Developmental Pediatrics	1	0.4%			1	0.4%	
Physical Medicine & Rehab.	2	0.8%			2	0.8%	
Psychiatry	14	5.6%			14	5.3%	



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (GRADUATES OF CANADIAN MEDICAL SCHOOLS) FIELD OF POST-M.D. TRAINING (NOV 1, 2014) OF NEW ENTRY AND RE-ENTRY GROUPS*

Field of Poot M.D. Tueining	New	Entry	Re-e	entry	Total		
Field of Post-M.D. Training	Count	Col %	Count	Col %	Count	Col %	
Child and Adolescent Psychiatry	1	0.4%			1	0.4%	
Geriatric Psychiatry	1	0.4%			1	0.4%	
Radiation Oncology	4	1.6%			4	1.5%	
MEDICAL SPECIALTIES SUBTOTAL	108	43.5%	2	11.8%	110	41.5%	
Anatomical Pathology	1	0.4%			1	0.4%	
Medical Biochemistry	1	0.4%			1	0.4%	
Medical Microbiology	1	0.4%			1	0.4%	
LAB MEDICINE SPECIALTIES SUBTOTAL	3	1.2%			3	1.1%	
General Surgery	3	1.2%			3	1.1%	
Colorectal Surgery			1	5.9%	1	0.4%	
Vascular Surgery	2	0.8%			2	0.8%	
Neurosurgery	1	0.4%			1	0.4%	
Obstetrics/Gynecology	5	2.0%			5	1.9%	
Gyn. Oncology	1	0.4%			1	0.4%	
Ophthalmology	4	1.6%	1	5.9%	5	1.9%	
Otolaryngology - Head and Neck Surgery	4	1.6%			4	1.5%	
Orthopedic Surgery	14	5.6%	1	5.9%	15	5.7%	
Plastic Surgery	4	1.6%			4	1.5%	
Urology	4	1.6%			4	1.5%	
SURGICAL SPECIALTIES SUBTOTAL	42	16.9%	3	17.6%	45	17.0%	
Total	248	100.0%	17	100.0%	265	100.0%	

^{*} New Entry - trainees assumed to be entering practice for the first time Re-entry - trainees assumed to be re-entering practice



TABLE C-4 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Ossertina		Legal Status	i
M.D. Country	CC/PR*	Visa	Total
Algeria		1	1
Argentina		1	1
Australia	3	15	18
Austria	1		1
Barbados		1	1
Belgium		3	3
Bolivia		1	1
Bonaire	1		1
Brazil		2	2
Bulgaria	2		2
Chile	1	2	3
China	4		4
Colombia	2		2
Czech Republic	1		1
Egypt	2	1	3
France		1	1
Germany		5	5
Ghana	1	1	2
Honduras		2	2
India	2	17	19
Iran	14		14
Iraq	3	1	4
Ireland	2	11	13
Italy		1	1
Japan		1	1
Lebanon		1	1
Libya	1		1
Mexico		1	1
Moldova	1		1



TABLE C-4 POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

LOCATION OF RECEIPT OF THE M.D. DEGREE BY LEGAL STATUS

M.D. Country		Legal Status	
M.D. Country	CC/PR*	Visa	Total
Morocco		1	1
Myanmar		1	1
Netherlands		3	3
New Zealand		2	2
Nigeria		1	1
Oman		1	1
Pakistan	1	1	2
Palestinian Authority		1	1
Philippines	4	2	6
Portugal		1	1
Russia	3		3
Saudi Arabia		10	10
Singapore		3	3
South Africa	4	3	7
Spain		1	1
Switzerland		2	2
Syrian Arab Republic	1		1
Taiwan	1		1
Thailand		1	1
Turkey	1		1
Uganda		2	2
United Kingdom	4	27	31
United States of America	2	5	7
Total	62	137	199

CC/PR: Canadian Citizens and Permanent Residents



TABLE C-4A POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Poot M.D. Training		Legal Status	
Field of Post-M.D. Training	CC/PR*	Visa	Total
Family Medicine	28		28
Care of the Elderly (CFPC)	1		1
Enhanced Skills: Other Fam. Med. Training	2		2
FAMILY MEDICINE SUBTOTAL	31		31
Anesthesiology	1	11	12
Dermatology		3	3
Diagnostic Radiology	2	16	18
Pediatric Radiology	1	1	2
Internal Medicine	1		1
Cardiology (Int.Med.)	2	8	10
Critical Care (Int.Med)	1	2	3
Gastroenterology (Int.Med.)		3	3
Hematology (Int.Med.)	1	1	2
Medical Oncology (Int.Med.)	1	5	6
Nephrology (Int.Med.)	1	5	6
Medical Genetics		1	1
Neurology	1	2	3
Neurology (Pediatrics)	2		2
Pediatrics	1	1	2
Adolescent Medicine (Ped.)	1		1
Cardiology (Ped.)		2	2
Critical Care (Ped.)		2	2
Endocrinology/Met. (Ped.)		3	3
Gastroenterology (Ped.)		1	1
Hematology/Oncology (Ped.)	2		2
Infectious Diseases (Ped.)		1	1
Neonatal-Perinatal Med. (Ped.)		6	6
Nephrology (Ped.)		2	2
Respirology (Ped.)		2	2



TABLE C-4A POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING (INTERNATIONAL MEDICAL GRADUATES)

FIELD OF POST-M.D. TRAINING BY LEGAL STATUS

Field of Post-M.D. Training		Legal Status	
Field of Post-M.D. Training	CC/PR*	Visa	Total
Rheumatology (Ped.)		2	2
Psychiatry	3	1	4
Child and Adolescent Psychiatry		1	1
Radiation Oncology	1	6	7
MEDICAL SPECIALTIES SUBTOTAL	22	88	110
Anatomical Pathology		2	2
General Pathology	2	1	3
Medical Biochemistry	1		1
Neuropathology	1	1	2
LAB MEDICINE SPECIALTIES SUBTOTAL	4	4	8
Cardiac Surgery	1		1
General Surgery	1	3	4
Pediatric Surgery		1	1
Neurosurgery		3	3
Obstetrics/Gynecology	1		1
Ophthalmology	1	12	13
Otolaryngology - Head and Neck Surgery		5	5
Orthopedic Surgery		16	16
Plastic Surgery	1	3	4
Urology		2	2
SURGICAL SPECIALTIES SUBTOTAL	5	45	50
Total	62	137	199

CC/PR: Canadian Citizens and Permanent Residents



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

Field of Poot M.D. Training	Resi	dents	Fell	ows	Total		
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %	
Family Medicine	113	100.0%			113	100.0%	
Emergency Medicine (CFPC)	7	100.0%			7	100.0%	
Care of the Elderly (CFPC)	2	100.0%			2	100.0%	
Enhanced Skills: Other Fam. Med. Training	12	85.7%	2	14.3%	14	100.0%	
FAMILY MEDICINE SUBTOTAL	134	98.5%	2	1.5%	136	100.0%	
Palliative Medicine	1	50.0%	1	50.0%	2	100.0%	
TRAINING FOLLOWING FAMILY MEDICINE OR SPECIALTY SUBTOTAL	1	50.0%	1	50.0%	2	100.0%	
Anesthesiology	5	62.5%	3	37.5%	8	100.0%	
Public Health and Preventive Medicine	4	100.0%			4	100.0%	
Dermatology	2	66.7%	1	33.3%	3	100.0%	
Diagnostic Radiology	6	35.3%	11	64.7%	17	100.0%	
Neuroradiology			1	100.0%	1	100.0%	
Pediatric Radiology			1	100.0%	1	100.0%	
Emergency Medicine (Royal College)	4	100.0%			4	100.0%	
Internal Medicine	6	100.0%			6	100.0%	
Cardiology (Int.Med.)	3	50.0%	3	50.0%	6	100.0%	
Clin. Imm./Allergy (Int.Med.)	1	100.0%			1	100.0%	
Critical Care (Int.Med)	3	75.0%	1	25.0%	4	100.0%	
Endocrinology/Met. (Int.Med.)	1	50.0%	1	50.0%	2	100.0%	
Gastroenterology (Int.Med.)	1	50.0%	1	50.0%	2	100.0%	
General Internal Medicine	3	100.0%			3	100.0%	
Hematology (Int.Med.)	1	33.3%	2	66.7%	3	100.0%	
Infectious Diseases (Int.Med.)	4	100.0%			4	100.0%	
Medical Oncology (Int.Med.)	3	75.0%	1	25.0%	4	100.0%	
Nephrology (Int.Med.)	3	100.0%			3	100.0%	
Respirology (Int.Med.)	2	100.0%			2	100.0%	
Rheumatology (Int.Med.)	3	100.0%			3	100.0%	
Neurology	3	33.3%	6	66.7%	9	100.0%	
Neurology (Pediatrics)	2	100.0%			2	100.0%	
Nuclear Medicine	2	100.0%			2	100.0%	
Pediatrics	8	100.0%			8	100.0%	



POST-M.D. TRAINEES EXITING BRITISH COLUMBIA TRAINING PROGRAMS IN JULY, 2015 AT THE COMPLETION OF POST-M.D. TRAINING

(CANADIAN CITIZENS AND PERMANENT RESIDENTS ONLY - VISA TRAINEES NOT INCLUDED) FIELD OF POST-M.D. TRAINING

Field of Boot M.D. Tueining	Resi	dents	Fell	ows	Total		
Field of Post-M.D. Training	Count	Row %	Count	Row %	Count	Row %	
Adolescent Medicine (Ped.)	1	100.0%			1	100.0%	
Developmental Pediatrics	1	100.0%			1	100.0%	
Hematology/Oncology (Ped.)	1	50.0%	1	50.0%	2	100.0%	
Physical Medicine & Rehab.	2	100.0%			2	100.0%	
Psychiatry	13	76.5%	4	23.5%	17	100.0%	
Child and Adolescent Psychiatry	1	100.0%			1	100.0%	
Geriatric Psychiatry	1	100.0%			1	100.0%	
Radiation Oncology	2	40.0%	3	60.0%	5	100.0%	
MEDICAL SPECIALTIES SUBTOTAL	92	69.7%	40	30.3%	132	100.0%	
Anatomical Pathology	1	100.0%			1	100.0%	
General Pathology	1	50.0%	1	50.0%	2	100.0%	
Medical Biochemistry	2	100.0%			2	100.0%	
Medical Microbiology	1	100.0%			1	100.0%	
Neuropathology	1	100.0%			1	100.0%	
LAB MEDICINE SPECIALTIES SUBTOTAL	6	85.7%	1	14.3%	7	100.0%	
Cardiac Surgery			1	100.0%	1	100.0%	
General Surgery	4	100.0%			4	100.0%	
Colorectal Surgery			1	100.0%	1	100.0%	
Vascular Surgery	2	100.0%			2	100.0%	
Neurosurgery	1	100.0%			1	100.0%	
Obstetrics/Gynecology	5	83.3%	1	16.7%	6	100.0%	
Gyn. Oncology	1	100.0%			1	100.0%	
Ophthalmology	3	50.0%	3	50.0%	6	100.0%	
Otolaryngology - Head and Neck Surgery	3	75.0%	1	25.0%	4	100.0%	
Orthopedic Surgery	4	26.7%	11	73.3%	15	100.0%	
Plastic Surgery	3	60.0%	2	40.0%	5	100.0%	
Urology	3	75.0%	1	25.0%	4	100.0%	
SURGICAL SPECIALTIES SUBTOTAL	29	58.0%	21	42.0%	50	100.0%	
Total	262	80.1%	65	19.9%	327	100.0%	